Sample IELTS Academic TASK 1 Scoring 6

Merhaba,

Asagida Academic IELTS ‘den 6.0 alan bir Task 1 6rnegi ve her paragraf ile ilgili yorumlari
bulacaksiniz. Task 1 organizasyonu ile ilgili olan nota bakarak kiyaslama yapmaniz ¢ok isinize
yarayacaktir.

WRITING TASK 1

You should spend about 20 minutes on this task.

The charts below show UK and USA energy consumption in 2000 and
2006.

Summarise the information by selecting and reporting the main features,
and make comparisons where relevant.

Write at least 150 words.
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Sample IELTS Academic TASK 1 Scoring 6

The graphs show that consumption of different energy sources which
are oil, coal, gas, nuclear power and other renewable sources according to
the year 2000 and 2006 in the UK and USA. These figures are based on
out of %40.

From 2000 to 2006, the amount of coal and nuclear power
consumption in the UK decreased by about five percentages. Similarly, the
oil consumption raised by nearly two percentages. However, in.contrast,
the consumption of gas increased by approximately twenty percentages. It
shows that people who lived in 2006 in the UK mostly consumed the gas
as a source of energy.

On the other hand, the consumption of nuclear power and the other
renewable sources fell by about two percentages/in.the USA. Also, the coal
decreased by nearly ten percentages. In contrast;“the gas consumption
increased by about ten percentages and. the .oil consumption raised by
approximately two percentages.

These features show that although the UK mostly used the gases as
an energy source, in contrast, the:.USA generally consumed oil.
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The graphs show that' consumption of different energy sources which are
oil, coal, gas, nuclear power and other renewable sources according to the year
2000 and 2006 in the UK and USA. Fhese figures-are-based-on-outof %40.

1) that = Yanhs kelime. “the” kullaniimal.

2) Bu cimlenin ne demek istedigi anlagsilmamakta. Ayrica anlasilsa bile spesifik bir
bilgiden bahsedilmeye calisildigi icin introduction boliminde yer almamahdir.

From 2000 to 2006, the amount of coal and nuclear power consumption:in
the UK decreased by about five percentages.” Similarly, the oil cohsumption
raised? by nearly two percentages.’ However, in contrast, the consumption.of gas
increased by approximately twenty percentages.’ It shows that people who lived
in 2006 in the UK® mostly consumed the* gas as a source of energy.

1) percentages = Yanlis kelime. “per cent” kullaniimali.

2) raised = Yanlis fiilin cekimi. “rose” kullanilmali. (“rise-rose-risen” and “raise-raised-
raised” are two different verbs).

3) Hatali kelime siralamasi = “who lived in the:UK in 2006” denmeli.

4) Gereksiz article kullanimi. Sadece “gas” kullanmak yeterlidir. Clinki burada genel
olarak “gas” dan bahsedilmektedir.

On the other hand, the consumption of nuclear power and the other
renewable sources fell by about two percentages' in the USA. Also, the? coal
decreased by nearly“ten 'percentages.’ In contrast, the gas consumption?
increased by about ‘ten“percentages’ and the oil consumption® raised® by

approximately two percentages.’

1) Yukarida belirtildi.

2) Gereksiz article kullanimi. Belirtilen butin yerlerde isimlerden genel olarak
bahsedildigi aticle (the) kullanilmamal.

3) Yukarida belirtildi.

These features show that although the UK mostly used the' gases as an
energy source, in contrast, the USA generally consumed oil.

1) Gereksiz article kullanimi. Sadece “gas” kullanmak yeterlidir. Clinkli burada genel
olarak “gas” dan bahsedilmektedir.
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Yorum ve IELTS puanlama

Task Achievement 5

Grafikle ilgili en belirgin bilginin verildigi bir ifade (overview) verilmemigtir.
Burada en goze garpan sey UK'de ve USA’da benzin(oil), nukleer eneriji
(nuclear power) ve yenilenebilir enerji (renewable sources) tiketimi hemen
hemen ayni kalirken kdomar (coal) tuketimi 6nemli bir sekilde diugmustur ve gaz
(gas) tuketimi 6nemli dlgude artmistir.

Bu arada ““dropped from 30% to 15%”, “rose from 10% to 401 gibi bazi verilerle
bu soylenenlerin desteklenmesi de gereklidir.

Coherence and Cohesion 6

Yazida tutarlih@i saglayan bazi ifadeler kullaniimis fakat yine de bazi kalip
ifadeler bu tutarlihgi bozuyor.

Lexical Resource 6

Kullanilan kelimeler yeterlidir fakat daha fazla not almak igin kelime gesitliliginin
arttinimasi gerekli.

Grammatical Range and Accuracy 6

Kullanilan gramer yapi gesitliligi sinirh tutulmus.

Approximate overall.IELTS score: 6
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